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Basic Mathemalics (FMATOT14) CONFIDENTIAL
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There are SIX (6) questions in this paper. Answer ALL questions in the answer
booklet. (100 Marks)

1. Ela Frozen Food sells three types of marinated protein which are salmon, lamb
and chicken. Upon three ftransactions on a particular day, transaction 1
recorded a sales revenue of RM220 from selling 6 packs of salmon, 4 packs of
lamb and 3 packs of chicken. Transaction 2 recorded a sales revenue of RM
190 from selling 3 packs of salmon, 3 packs of lamb and 7 packs of chicken.
Meanwhile, transaction 3 recorded a sales revenue of RM 90 from selling 1
pack of salmon and 3 packs of lamb.

Based on the information above, a system of equation can be written as

follows:
6x + 4y + 3z = 220
3x +3y+7z=190
Xhdy =90
Where,

x = price of a pack of marinated salmon
yv/=|price of a pack of mannated lamb
z = price of'a,pack of marinated chicken

Calculate the price per pack for each type of protein by using matrix operation.

[20 marks]
2. Giventhat f(x) = (x —1)* and g(x) = 2x + 1, find
a) f(-2)—g(4) (5 marks)
b) f'(x) (5 marks)
c) h(x)ifhlg(x)] =4x* +8x+6 (10 marks)
[20 marks]
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3.

Express the following improper fraction as partial fractions

6x* + 5x2 =7
3x?—-2x -1

CONFIDENTIAL

[20 marks]

Ishaq is helping his father to replace a light bulb in the dining area. He puts up
a ladder against the wall that is 9 feet tall. The angle of the ladder that is now
inclined to the wall is 60 degrees. What is the distance (in feet) from the wall

and the bottom of the ladder?

[10 marks]

A heavy truck has 0.86m diameter tire. Suppose that it has rotated 120 000
times in 5 hours journey from Kuala Lumpur to Nibong Tebal. Based on the

information,

a) how many kilometres has the truck travelled?

b) what.is the linear speed of the truck?

Evaluate the following limits

a lim (x2—=2xy+2y2—20x+5y—4
) (x.:f:l—-{—z,a;{ Xy ey y—4)

. 3 _
b) xl_lﬂ}(:: 8x+3)

*** END OF QUESTION PAPER ***

(8 marks)
(8 marks)

[16 marks]

(7 marks)
(7 marks)

[14 marks]



